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QUESTION 1

Refer to the exhibit. 

XR1 and XR2 are sending the prefix 10.11.11.0/24 to XR3. A configured policy on XR1 is incorrectly prepending AS
path 11 11 12 12 onto this prefix. A network operator wants to add a policy onto XR3 that will not allow the falsely
prepending prefix from being installed. 

Which policy configuration applied to the XR3 neighbor configuration for XR1 can accomplish this requirement without
impact to other or future received routes? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 
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Reference: https://www.cisco.com/c/en/us/td/docs/routers/crs/software/crs_r4-1/routing/command/reference/b_routing_c
r41crs/b_routing_cr41crs_chapter_01000.html#wp3850885229 

 

QUESTION 2

CORRECT TEXT 

Guidelines 

This is a lab item in which tasks will be performed on virtual devices. 

Refer to the Tasks tab to view the tasks for this lab item. 

Refer to the Topology tab to access the device console(s) and perform the tasks. 

Console access is available for all required devices by clicking the device icon or using the tab(s) above the console
window. 

All necessary preconfigurations have been applied. 

Do not change the enable password or hostname for any device. 

Save your configurations to NVRAM before moving to the next item. 

Click Next at the bottom of the screen to submit this lab and move to the next question. 

When Next is clicked, the lab doses and cannot be reopened. 

Topology 

Tasks 

Configure and verify an OSPF neighbor adjacency between R1 and R2 in OSPF area 0 according to the topology to
achieve these goals: 

1.
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 R1 pings the Loopback0 interface of R2. Use interface-level configuration to complete this task. 

2.

 R2 pings the Loopback0 interface of R1. Use interface-level configuration to complete this task. 

A. Check the answer in the explanation 

B. Placeholder 

C. Placeholder 

D. Placeholder 

Correct Answer: A 
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3.

 R2 receives a single summary route 172.16.100.0/22 for networks 172.16.100.0/24, 172.16.101.0/24, and
172.16.103.0/24. 

 

QUESTION 3

Refer to the exhibits. 
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A network operator is troubleshooting packet loss seen from the R1 loopback interface to the R2 loopback interface over
the core network. The operator is attempting to identify the next leg in the path from PE1. Which interface and label path
should the operator investigate next? 
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A. PE1 - Gi0/0/0/3 - forwarding label 24002 

B. PE1 - Gi0/0/0/2 - forwarding label 24002 

C. PE1 - Gi0/0/0/3 - forwarding label 24001 

D. PE1 - Gi0/0/0/2 - forwarding label 24001 

Correct Answer: C 

 

 

QUESTION 4

Refer to the exhibit. 

Router 1 is connected to router 2 on interface TenGigE0/1. 

Which interface provides the alternate path to 172.16.200.9/32 when the link between router 1 and router 2 goes down? 

A. TenGigE0/1 interface provides the alternate path 

B. A backup path must be statically installed 

C. TenGigE0/2 interface provides the alternate path 

D. A primary path must be manually installed 

Correct Answer: C 
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QUESTION 5

Refer to the exhibit. 

An engineer has configured all routers in the environment to run IS-IS Level 1 and Level 2 routing. The engineer wants
traffic from R1 to R5 to pass via R2. but IS-IS routing has calculated the best path via R4. Which action corrects the
problem? 

A. Configure routers R1, R4, and R5 for Level 2 routing only. 

B. Set the link metric for the link from router R1 to router R4 to 30 or more. 

C. Set the link metric on R2 for the links from router R2 to routers R3 and R4 to 30 or more. 

D. Configure routers R1, R2, and R5 for Level 1 routing only. 

Correct Answer: B 
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